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QUESTION 1

Which of the following commands is used to dump files in octal format?
A. od

B. octdump

C. dumpoct

D. cat -0

Correct Answer: A

QUESTION 2

An administrator has read/write permissions on an ordinary file foo. The administrator has just run In foo bar. Which of
the following would occur if the administrator ran rm foo?

A. foo and bar would both be removed.

B. foo would be removed while bar would remain accessible.

C. foo would be removed. bar would still exist but would be unusable.
D. Both foo and bar would remain accessible.

E. The administrator would be asked whether bar should be removed.

Correct Answer: B

QUESTION 3

What file contains kernel level logging information such as output from a network driver module when it is loaded?
(Please enter only a single command and do not enter duplicate answers in this field.)

Correct Answer: /VAR/LOG/KERN.LOG,/VAR/LOG/MESSAGES,KERN.LOG,MESSAGES

QUESTION 4

In bash, inserting 1>and2 after a command redirects:
A. standard error to standard input.

B. standard input to standard error.

C. standard output to standard error.

D. standard error to standard output.
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E. standard output to standard input.

Correct Answer: C

QUESTION 5

An administrator is having some trouble with a disk partition and needs to do maintenance on this partition. The
administrator\\'s users home directories are on it and several are logged in. Which of the following commands would
disconnect the users and allow the administrator to safely execute maintenance tasks?

A. telinit 1

B. shutdown -r now

C. killall -9 inetd

D. /bin/netstop --maint

E. /etc/rc.d/init.d/network stop

Correct Answer: A
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